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wiE% ML TRBA BRI RIZ (51) (2) (RB) BRHHEF
% R - k& B {if ® & B =

E &Rl 16,309,020 + 457, 989 16, 767, 009
EEAHE 16,309, 020
EEER 457,989
T ORI 16,309,020 x 53.85% ( 35% = (1 — 3b% ) ) 8,782, 407
R R 16,767,009 + 8, 782, 407 25,549, 416
—REERF 25,549,416 x 53.85% ( 35% = (1 — 35%) ) — 7,776 13,750, 584
ES Nt 25,549, 416 + 13, 750, 584 39, 300, 000
HERSHELEE 39,300,000 x 10.00% 3,930, 000
EBZREH 39, 300, 000 + 3, 930, 000 43, 230, 000




HERNRE

FIUL TR EREMEIRR (54) (2) (B BREHF

% # 88 - iksk B ff ¢
EERM 16, 767, 009
REtE 16, 767, 009
HREETF 16, 767, 009
HREETF 16, 309, 020
EtETE 130, 600
1 EHiEHE f 1.00 130, 600 130, 600
o,
R ERORE 436, 600
2 FIF - BAFHFORE 1.00 122,100 122,100
o,
3 KIBEHDERE 1.00 314, 500 314, 500
=
HENRHE 14, 7417, 020
4 BERTODRE 1.00 2,120, 280 2,120, 280
o,
5 REMDOEE 1.00 6, 282, 360 6, 282, 360
=
6 HEETDRE 1.00 623, 180 623,180
=
1 HHEE 1.00 b, 721, 200 5,721,200
o,
HEmEEk 258, 500
8 RmER 1.00 258, 500 258, 500
=
B - WmE 329, 400
9 il - |E 3.00 109, 800 329, 400




BEEARE I TRBAEMRIRIZ (51) (2) (B B) RRBHE

sk 180, 700

10 B&E 1.00 180, 700 180, 700
=

AR 226, 200

11 EBEEREEER 1.00 226, 200 226, 200
=®

EEEH 457, 989

EHARE 157, 989

12 BHEAME 1.00 157, 989 157, 989
=®

R 300, 000

13 £HBRESR 1.00 300, 000 300, 000
=®




Rifizk- BT/ \vr—2

ML TFREREBEIRIE (5 (2) (BB EREHE

ES5:1
A ATEER EEP
A [ g - iKTiE B & B {f # " &
FEHEER (555
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200.00 51,200
HER (B)
A 0.50 41, 600. 00 20, 800
=) &t 1E%8EH - 1,00 130, 600. 00 130, 600
&5 :2
¥ FIFA - BREHFOEE 14y
A (i A - BiKTE B i i B i &
EXE2: 116 )
A 0.50 58, 600. 00 29, 300
A (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
=} it YE%RED - 1,00 122,100.00 122,100
5 :3
B BREHOHRE X5y
A 5 g - K& B & B {f # " &
EXE2: 116 )
A 0.50 58, 600. 00 29, 300
HED (A)
A 2.00 51, 200. 00 102, 400
e (B)
A 3.00 41, 600. 00 124, 800
Hiff&
A 2.00 29, 000. 00 58, 000
=} it 1E%RED - 1. 00K 314, 500. 00 314, 500




RiER-BET/\Svr—

ML TFREREBEIRIE (5 (2) (BB EREHE

&5 4
B WEHETORE 13y
£ 5 g - BkTik BAf ¥ & B M & & " =
FEHEER (555
A 4.70 58, 600. 00 275, 420
HER (A)
A 8.10 51, 200.00 414,720
HER (B)
A 16. 20 41, 600. 00 673,920
HEm (C)
A 18. 90 32, 800. 00 619, 920
Hiff&
A 4.70 29, 000. 00 136, 300
= &t 1E%8EH - 1,00 2,120, 280. 00 2,120, 280
H5:50
2% REMOBE IEED
£ 5 g - BTk BfF ¥ & B & &8 " =
T HEER (555
A 13.00 58, 600. 00 761, 800
HER (A)
A 23.00 51, 200.00 1,177, 600
HER (B)
A 48. 60 41, 600. 00 2,021,760
e (C)
A 54. 50 32, 800. 00 1,787, 600
Hifftg
A 18. 40 29, 000. 00 533, 600
=} it 1E%RED - 1. 00K 6, 282, 360. 00 6, 282, 360
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ML TFREREBEIRIE (5 (2) (BB EREHE

ES:6
B WEHETORE 13y
£ 5 g - BkTik BAf ¥ & B M & & " =
HEm (B)
A 4.10 41, 600. 00 170, 560
e (C)
A 5.40 32,800.00 177,120
Hifftg
A 9.50 29, 000. 00 275, 500
=) &t 1E%8EH - 1,00 623, 180. 00 623, 180
557
2% : M BE IEEL
% g A - BiKTE B B OE ] £ # i &
EE T dE )]
A 14. 00 58, 600. 00 820, 400
A (A)
A 42.00 51, 200. 00 2, 150, 400
HEm (B)
A 33.00 41, 600. 00 1,372, 800
e (C)
A 42.00 32,800.00 1,377, 600
=} it YE%RED - 1,00 5,721, 200.00 5,721,200
5.8
&% . EmEERK 1Y
_ 4 5 g - BikTiE BfF ¥ & B {f & &8 " =
e (B)
A 2.50 41, 600. 00 104, 000
HEm (C)
A 2.50 32, 800. 00 82,000
Hiff&
A 2.50 29, 000. 00 72,500
=} it 1E%RED - 1. 00K 258, 500. 00 258, 500
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ML TFREREBEIRIE (5 (2) (BB EREHE

#5:9
&5 1558 - |E IEER)
£ 5 g - BkTik BAf ¥ & B M ] " =
FEHEER (555
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200.00 51,200
=} it YE%RED - 1.00[ 109, 800. 00 109, 800
#5:10
&% BE IEER
% g B - BIKTE B4 B OE B il i &
EE T dE )]
A 1.50 58, 600. 00 87,900
HER (A)
A 1.00 51, 200.00 51,200
A (B)
A 1.00 41, 600. 00 41, 600
=} it YE%ERERN - 1,00 180, 700. 00 180, 700
55 11
21 EHRTEREEFR IEED
4 5 g - BikTiE BAF ¥ & B ] " =
T HEET (555
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.50 32, 800. 00 49, 200
=) &t 1E%8EH - 1,00 226, 200. 00 226, 200




RIS Ha T/ S — HMIUTRBRBBRIRIE L) (2) (B RERHES

B 12
&% BEAKE 13y
£ 5 g - BkTik BAf ¥ & B M & & = " =
EHEAMLE
= 1.00 157, 989. 00 157, 989
=} it YE%RED - 1,00 157, 989. 00 157, 989
FS:13
&5 KBERER 13y
£ a3 g - BTk BAf ¥ & B {f € & = " =
XERERE
= 1.00 300, 000. 00 300, 000
=} it YE%RED - 1,00 300, 000. 00 300, 000




